

Applications of Sadik Transform for solving Bessel’s Function and linear Volterra Integral Equation of Convolution type

Shivaji S. Pawar^{#1}, Nitin S. Abhale^{*2}

[#]Department of Mathematics, Sanjivani COE, Kopergaon, SPPU, Maharashtra, India

^{*}Department of Mathematics, Sanjivani COE, Kopergaon, SPPU, Maharashtra, India

¹sspcoe@gmail.com

²abhale.nitin@gmail.com

Abstract: - In this article Sadik Transform of Bessel’s function of order n of first kind is derived. This article demonstrated the applicability of Sadik Transform for solving Volterra Integral equation of convolution type with applications.

Keywords: - Bessel’s function, Sadik Transform, Inverse Sadik Transform, Volterra integral equation, convolution.

1. INTRODUCTION

In daily life most of advance problems of basic Science and Engineering can represent mathematically in the form of Volterra integral equation. Integral Transform is very powerful Mathematical tool applied for solving differential equation and integral equation. Many transforms like, Laplace transform, Kamal Transform[2], Elazki Transform[3] etc. are used to solve Bessel’s function[4] and Volterra integral equation. Sadik Latif Shaikh introduce new integral transform called as Sadik Transform [1].

1.1 Definition of Sadik Transform[1]:-

If $f(t)$ is piecewise continuous in $0 \leq t \leq A$ for any $A > 0$ and $|f(t)| \leq Ke^{at}$ when $t \geq M$, for any real constant a and some positive constant K and M then Sadik Transform of $f(t)$ is defined by

$$F(v^\alpha, \beta) = S\{f(t)\} = \frac{1}{v^\beta} \int_0^\infty e^{-tv^\alpha} f(t) dt$$

Where v is complex variable, α is any non zero real number and β is any real number.

1.2 Linearity property of Sadik Transform:-

If $S\{f(t)\} = F(v^\alpha, \beta)$ and $S\{g(t)\} = G(v^\alpha, \beta)$ then $S\{af(t) + bg(t)\} = aS\{f(t)\} + bS\{g(t)\} = aF(v^\alpha, \beta) + bG(v^\alpha, \beta)$ Where a and b are any constant.

Table I
Sadik Transform of some Elementary Functions:-

Sr. No.	f(t)	S{f(t)} = F(v ^α , β)
1	t ⁿ	$\frac{n!}{v^{n\alpha+(\alpha+\beta)}}$, if n is positive integer
2	t ⁿ	$\frac{\Gamma(n + 1)}{v^{n\alpha+(\alpha+\beta)}}$
3	sinat	$\frac{av^{-\beta}}{v^{2\alpha} + a^2}$
4	cosat	$\frac{v^{\alpha-\beta}}{v^{2\alpha} + a^2}$
5	e ^{at}	$\frac{v^{-\beta}}{v^\alpha - a}$
6	sinhat	$\frac{av^{-\beta}}{v^{2\alpha} - a^2}$
7	coshat	$\frac{v^{\alpha-\beta}}{v^{2\alpha} - a^2}$

1.3 Convolution Function:-

The convolution of the function $f(t)$ and $g(t)$ is defined as

$$f(t) * g(t) = \int_0^t f(t-u)g(u)du.$$

1.4 Convolution theorem for Sadik Transform:-

If $S\{f(t)\} = F(v^\alpha, \beta)$ and $S\{g(t)\} = G(v^\alpha, \beta)$ then

$$S\{f(t) * g(t)\} = S\left\{\int_0^t f(t-u)g(u)du\right\} = v^\beta S\{f(t)\}S\{g(t)\} = v^\beta F(v^\alpha, \beta)G(v^\alpha, \beta)$$

Theorem:- If $S\{e^{at}\} = \frac{v^{-\beta}}{v^\alpha - a}$ then $S\{t^n e^{at}\} = \frac{n!v^{-n\beta}}{(v^\alpha - a)^{n+1}}$.

Proof:- For $n = 1$

$$\begin{aligned} S\{te^{at}\} &= \frac{1}{v^\beta} \int_0^\infty e^{-tv^\alpha} te^{at} dt \\ &= \frac{1}{v^\beta} \int_0^\infty e^{-(v^\alpha - a)t} t dt \\ &= \frac{v^{-\beta}}{(v^\alpha - a)^2} \end{aligned}$$

For $n = 2$

$$\begin{aligned} S\{t^2 e^{at}\} &= \frac{1}{v^\beta} \int_0^\infty e^{-tv^\alpha} t^2 e^{at} dt \\ &= \frac{1}{v^\beta} \int_0^\infty e^{-(v^\alpha - a)t} t^2 dt \\ &= \frac{2v^{-\beta}}{(v^\alpha - a)} \int_0^\infty e^{-(v^\alpha - a)t} t dt \\ &= \frac{2v^{-\beta}}{(v^\alpha - a)} S\{te^{at}\} \\ &= \frac{2v^{-\beta}}{(v^\alpha - a)} \frac{v^{-\beta}}{(v^\alpha - a)^2} \\ &= \frac{2!v^{-2\beta}}{(v^\alpha - a)^3} \end{aligned}$$

Similarly for $n = 3$,

$$S\{t^3 e^{at}\} = \frac{3!v^{-3\beta}}{(v^\alpha - a)^4}$$

In general, $S\{t^n e^{at}\} = \frac{n!v^{-n\beta}}{(v^\alpha - a)^{n+1}}$

1.5 Inverse Sadik Transform:-

If $S\{f(t)\} = F(v^\alpha, \beta)$ then $f(t)$ is called inverse Sadik Transform of $F(v^\alpha, \beta)$ i.e. $S^{-1}\{F(v^\alpha, \beta)\} = f(t)$

Table II
Inverse Sadik Transform of some elementary functions:-

Sr. No.	$F(v^\alpha, \beta)$	$f(t) = S^{-1}F(v^\alpha, \beta)$
1	$\frac{1}{v^{n\alpha + (\alpha + \beta)}}$	$\frac{t^n}{n!}$
2	$\frac{v^{-\beta}}{v^{2\alpha} + a^2}$	$\frac{\sin at}{a}$
3	$\frac{v^{\alpha - \beta}}{v^{2\alpha} + a^2}$	$\cos at$
4	$\frac{v^{-\beta}}{v^\alpha - a}$	e^{at}
5	$\frac{v^{-\beta}}{v^{2\alpha} - a^2}$	$\frac{\sinh at}{a}$
6	$\frac{v^{\alpha - \beta}}{v^{2\alpha} - a^2}$	$\cosh at$
7	$\frac{v^{-n\beta}}{(v^\alpha - a)^{n+1}}$	$\frac{t^n e^{at}}{n!}$

2. Bessel's function

2.1 Definition: The Bessel's function of order n of first kind is defined as

$$J_n(t) = \sum_{r=0}^{\infty} \frac{(-1)^r}{r!(n+r)!} \left(\frac{t}{2}\right)^{n+2r} \tag{1}$$

For n = 0,1,2

$$J_0(t) = 1 - \frac{t^2}{2^2} + \frac{t^4}{2^2 \cdot 4^2} - \frac{t^6}{2^2 \cdot 4^2 \cdot 6^2} + \dots \tag{2}$$

$$J_1(t) = \frac{t}{2} - \frac{t^3}{2^2 \cdot 4} + \frac{t^5}{2^2 \cdot 4^2} - \frac{t^7}{2^2 \cdot 4^2 \cdot 6} + \dots \tag{3}$$

$$J_2(t) = \frac{t^2}{2 \cdot 4} - \frac{t^4}{2^2 \cdot 4 \cdot 6} + \frac{t^6}{2^2 \cdot 4^2 \cdot 6 \cdot 8} - \frac{t^8}{2^2 \cdot 4^2 \cdot 6^2 \cdot 8 \cdot 10} + \dots \tag{4}$$

Relation between $J_0(t)$, $J_1(t)$ and $J_2(t)$

$$J_0'(t) = -J_1(t) \tag{5}$$

$$J_2(t) = J_0(t) + 2J_0''(t) \tag{6}$$

2.2 Sadik Transform of Bessel's function of order n

$$\begin{aligned} S\{J_n(t)\} &= \frac{1}{v^\beta} \int_0^\infty e^{-tv^\alpha} J_n(t) dt \\ &= \frac{1}{v^\beta} \int_0^\infty e^{-tv^\alpha} \left\{ \sum_{r=0}^{\infty} \frac{(-1)^r}{r!(n+r)!} \left(\frac{t}{2}\right)^{n+2r} \right\} dt \\ &= \frac{1}{v^\beta} \sum_{r=0}^{\infty} \frac{(-1)^r}{r!(n+r)! 2^{n+2r}} \int_0^\infty e^{-tv^\alpha} t^{n+2r} dt \\ &= \frac{1}{v^\beta} \sum_{r=0}^{\infty} \frac{(-1)^r}{r!(n+r)! 2^{n+2r}} \frac{(n+2r)!}{v^{(n+2r+1)\alpha}} \end{aligned} \tag{7}$$

2.3 Sadik Transform of Bessel's function of order zero

Using (7)
$$S\{J_0(t)\} = \frac{1}{v^\beta} \sum_{r=0}^{\infty} \frac{(-1)^r}{(r!)^2 2^{2r}} \frac{(2r)!}{v^{(2r+1)\alpha}} \tag{8}$$

$$\begin{aligned} &= \frac{1}{v^{\alpha+\beta}} \sum_{r=0}^{\infty} \frac{(-1)^r}{(r!)^2 2^{2r}} \frac{(2r)!}{v^{2r\alpha}} \\ &= \frac{1}{v^{\alpha+\beta}} \left[1 + \frac{1}{v^{2\alpha}} \right]^{-1/2} \\ &= \frac{v^{-\beta}}{\sqrt{1+v^{2\alpha}}} \end{aligned} \tag{9}$$

2.4 Sadik Transform of Bessel's function of order one

Applying Sadik Transform on (5),

$$\begin{aligned} S\{J_0'(t)\} &= -S\{J_1(t)\} \\ S\{J_1(t)\} &= -\left[v^\alpha S\{J_0(t)\} - v^{-\beta} J_0(0) \right] \\ &= -\left[v^\alpha \frac{v^{-\beta}}{\sqrt{1+v^{2\alpha}}} - v^{-\beta} \right], \quad \because J_0(0) = 1 \\ &= v^{-\beta} + \frac{v^{\alpha-\beta}}{\sqrt{1+v^{2\alpha}}} \end{aligned} \tag{10}$$

2.5 Sadik Transform of Bessel's function of order two

Applying Sadik Transform on (6),

$$\begin{aligned} S\{J_2(t)\} &= S\{J_0(t) + 2J_0''(t)\} = S\{J_0(t)\} + 2S\{J_0''(t)\} \\ &= \frac{v^{-\beta}}{\sqrt{1+v^{2\alpha}}} + 2 \left\{ v^{2\alpha} \frac{v^{-\beta}}{\sqrt{1+v^{2\alpha}}} - v^{-\beta} J_0'(0) - v^{\alpha-\beta} J_0(0) \right\} \\ &= \frac{v^{-\beta}}{\sqrt{1+v^{2\alpha}}} + 2 \left\{ \frac{v^{2\alpha-\beta}}{\sqrt{1+v^{2\alpha}}} - v^{\alpha-\beta} \right\}, \quad \because J_0(0) = 1 \\ &= \frac{1+2v^{2\alpha}-2v^\alpha\sqrt{1+v^{2\alpha}}}{v^\beta\sqrt{1+v^{2\alpha}}} \end{aligned} \tag{11}$$

3. Volterra Integral Equation:

Volterra Integral equation of second kind:-

$$u(x) = f(x) + \lambda \int_a^x K(x,t)u(t)dt \tag{12}$$

Volterra Integral equation of first kind:-

$$f(x) = \lambda \int_a^x K(x,t)u(t)dt \tag{13}$$

Where a is fixed constant, $K(x, t)$, $f(x)$ are known functions and $u(x)$ is unknown function, λ is non zero real and complex parameter.

3.1 Solution of Volterra Integral equation of second kind of convolution type:-

Consider the Volterra Integral equation

$$u(x) = f(x) + \lambda \int_0^x K(x-t)u(t)dt \tag{14}$$

Where $K(x-t)$ is difference kernel, since it is the difference of the function $x-t$

Using convolution,

$$u(x) = f(x) + \lambda\{k(x) * u(x)\}$$

Applying Sadik Transform on both sides

$$\begin{aligned} S\{u(x)\} &= S\{f(x)\} + \lambda S\{k(x) * u(x)\} \\ &= S\{f(x)\} + \lambda v^\beta S\{k(x)\}S\{u(x)\}, \text{ by theorem 2.4} \\ S\{u(x)\} [1 - \lambda v^\beta S\{k(x)\}] &= S\{f(x)\} \\ S\{u(x)\} &= \frac{S\{f(x)\}}{1 - \lambda v^\beta S\{k(x)\}} \end{aligned}$$

Applying inverse Sadik Transform

$$u(x) = S^{-1} \left\{ \frac{S\{f(x)\}}{1 - \lambda v^\beta S\{k(x)\}} \right\}$$

This is the required solution of equation (14)

3.2 Solution of Volterra Integral equation of first kind of convolution type:-

Consider the Volterra Integral equation

$$f(x) = \lambda \int_0^x K(x-t)u(t)dt \tag{15}$$

Where $K(x-t)$ is difference kernel, since it is the difference of the function $(x-t)$

Using convolution, $f(x) = \lambda\{k(x) * u(x)\}$

Applying Sadik Transform on both sides

$$\begin{aligned} S\{f(x)\} &= \lambda S\{k(x) * u(x)\} \\ &= \lambda v^\beta S\{k(x)\}S\{u(x)\}, \text{ by theorem 2.4} \\ S\{u(x)\} &= \frac{S\{f(x)\}}{\lambda v^\beta S\{k(x)\}} \end{aligned}$$

Applying inverse Sadik Transform

$$u(x) = S^{-1} \left\{ \frac{S\{f(x)\}}{\lambda v^\beta S\{k(x)\}} \right\}$$

This is the required solution of equation (15).

3.3 Applications:

3.3.1 Consider the Volterra Integral equation of second kind

$$u(x) = x + 2 \int_0^x \cos(x-t)u(t)dt \tag{16}$$

Using convolution, $u(x) = x + 2\cos x * u(x)$

Applying Sadik Transform on both sides

$$\begin{aligned} S\{u(x)\} &= S\{x\} + S\{2\cos x * u(x)\} \\ &= S\{x\} + v^\beta S\{2\cos x\}S\{u(x)\}, \text{ by theorem 2.4} \\ &= \frac{1}{v^\beta v^{2\alpha}} + 2v^\beta \frac{v^{\alpha-\beta}}{v^{2\alpha+1}} S\{u(x)\} \\ S\{u(x)\} \left[1 - 2v^\beta \frac{v^{\alpha-\beta}}{v^{2\alpha+1}} \right] &= \frac{1}{v^\beta v^{2\alpha}} \\ S\{u(x)\} &= \frac{v^{2\alpha+1}}{v^\beta v^{2\alpha} (v^{2\alpha} - 2v^{\alpha+1})} \end{aligned}$$

Applying inverse Sadik Transform

$$\begin{aligned} u(x) &= S^{-1} \left\{ \frac{v^{2\alpha+1}}{v^\beta v^{2\alpha} (v^{2\alpha} - 2v^{\alpha+1})} \right\} \\ &= S^{-1} \left\{ \frac{1}{v^\beta v^{2\alpha}} + \frac{2}{v^\beta v^\alpha} - \frac{2}{v^\beta (v^{\alpha-1})} + \frac{2}{v^\beta (v^{\alpha-1})^2} \right\}, \text{ by partial fraction} \\ &= x + 2 - 2e^x + 2xe^x, \text{ by theorem 2.5} \\ &= x + 2 + 2(x-1)e^x \end{aligned}$$

This is the required solution of equation (16).

3.3.2 Consider the Volterra Integral equation of second kind

$$u(x) = 3x^2 + \int_0^x \sin(x-t)u(t)dt \tag{17}$$

Using convolution, $u(x) = 3x^2 + \sin x * u(x)$

Applying Sadik Transform on both sides

$$S\{u(x)\} = S\{3x^2\} + S\{\sin x * u(x)\}$$

$$\begin{aligned}
 &= 3 \frac{2!}{v^{3\alpha+\beta}} + v^\beta S\{\sin x\} S\{u(x)\}, \text{ by theorem 2.4} \\
 &= \frac{6}{v^{3\alpha+\beta}} + v^\beta \frac{v^{-\beta}}{v^{2\alpha+1}} S\{u(x)\} \\
 S\{u(x)\} \left[1 - v^\beta \frac{v^{-\beta}}{v^{2\alpha+1}} \right] &= \frac{6}{v^{3\alpha+\beta}} \\
 S\{u(x)\} &= \frac{6(v^{2\alpha+1})}{v^{3\alpha+\beta} v^{2\alpha}} = 6 \left[\frac{1}{v^{3\alpha+\beta}} + \frac{1}{v^{5\alpha+\beta}} \right] \\
 \text{Applying inverse Sadik Transform} \\
 u(x) &= S^{-1} \left\{ 6 \left[\frac{1}{v^{3\alpha+\beta}} + \frac{1}{v^{5\alpha+\beta}} \right] \right\} = 6 \left[\frac{x^2}{2!} + \frac{x^4}{4!} \right] \\
 &= 3x^2 + \frac{x^4}{4}.
 \end{aligned}$$

This is the required solution of equation (17).

3.3.3 Consider the Volterra Integral equation of second kind

$$u(x) = 1 - 2x - 4x^2 + \int_0^x [3 + 6(x-t) - 4(x-t)^2] u(t) dt \tag{18}$$

Using convolution, $u(x) = 1 - 2x - 4x^2 + [3 + 6x - 4x^2] * u(x)$

Applying Sadik Transform on both sides

$$\begin{aligned}
 S\{u(x)\} &= S\{1 - 2x - 4x^2\} + S\{[3 + 6x - 4x^2] * u(x)\} \\
 &= \frac{1}{v^{\alpha+\beta}} - 2 \frac{1}{v^{2\alpha+\beta}} - 4 \frac{2!}{v^{3\alpha+\beta}} + v^\beta S\{3 + 6x - 4x^2\} S\{u(x)\}, \text{ by theorem 2.4} \\
 &= \frac{1}{v^{\alpha+\beta}} - 2 \frac{1}{v^{2\alpha+\beta}} - 4 \frac{2!}{v^{3\alpha+\beta}} + v^\beta \left[\frac{3}{v^{\alpha+\beta}} + 6 \frac{1}{v^{2\alpha+\beta}} - 4 \frac{2!}{v^{3\alpha+\beta}} \right] S\{u(x)\} \\
 S\{x\} \left[1 - v^\beta \left(\frac{3}{v^{\alpha+\beta}} + \frac{6}{v^{2\alpha+\beta}} - \frac{8}{v^{3\alpha+\beta}} \right) \right] &= \frac{1}{v^{\alpha+\beta}} - \frac{2}{v^{2\alpha+\beta}} - \frac{8}{v^{3\alpha+\beta}} \\
 S\{x\} &= \frac{v^{2\alpha} - 2v^{\alpha-8}}{v^\beta (v^{3\alpha} - 3v^{2\alpha} - 6v^{\alpha+8})} \\
 &= \frac{1}{v^\beta (v^{\alpha-1})(v^{\alpha+2})(v^{\alpha-4})}
 \end{aligned}$$

Applying inverse Sadik Transform

$$u(x) = S^{-1} \left\{ \frac{v^{-\beta}}{v^{\alpha-1}} \right\} = e^{-x}.$$

This is the required solution of equation (18).

3.3.4 Consider the Volterra Integral equation of first kind

$$\sqrt{x} = \int_0^x \frac{\phi(t)}{\sqrt{x-t}} dt, \tag{19}$$

Using convolution, $\sqrt{x} = x^{-1/2} * \phi(x)$

Applying Sadik Transform on both sides

$$\begin{aligned}
 S\left\{x^{\frac{1}{2}}\right\} &= S\left\{x^{-\frac{1}{2}} * \phi(x)\right\} = v^\beta S\left\{x^{-\frac{1}{2}}\right\} S\{\phi(x)\}, \text{ by theorem 2.4} \\
 \frac{\Gamma\left(\frac{1}{2}+1\right)}{v^{\frac{3\alpha}{2}+\beta}} &= v^\beta \frac{\Gamma\left(-\frac{1}{2}+1\right)}{v^{\frac{\alpha}{2}+\beta}} S\{\phi(x)\} \\
 \frac{\frac{1}{2}\sqrt{\pi}}{v^{\frac{3\alpha}{2}+\beta}} &= v^\beta \frac{\sqrt{\pi}}{v^{\frac{\alpha}{2}+\beta}} S\{\phi(x)\} \\
 S\{\phi(x)\} &= \frac{v^{\frac{\alpha}{2}+\beta}}{2v^\beta v^{\frac{3\alpha}{2}+\beta}} = \frac{1}{2} \frac{1}{v^{\alpha-\beta}}
 \end{aligned}$$

Applying inverse Sadik Transform

$$\phi(x) = S^{-1} \left\{ \frac{1}{2} \frac{1}{v^{\alpha-\beta}} \right\} = \frac{1}{2}$$

This is the required solution of equation (19).

3.3.5 Consider the Volterra Integral equation of first kind

$$\sin x = \int_0^x e^{x-t} u(t) dt, \tag{20}$$

Using convolution, $\sin x = e^x * u(x)$

Applying Sadik Transform on both sides

$$S\{\sin x\} = S\{e^x * u(x)\} = v^\beta S\{e^x\} S\{u(x)\}, \text{ by theorem 2.4}$$

$$\frac{v^{-\beta}}{v^{2\alpha+1}} = v^\beta \frac{v^{-\beta}}{v^{\alpha-1}} S\{u(x)\}$$

$$S\{u(x)\} = \frac{v^{-\beta}(v^{\alpha-1})}{v^{2\alpha+1}}$$

Applying inverse Sadik Transform

$$u(x) = S^{-1} \left\{ \frac{v^{\alpha-\beta}}{v^{2\alpha+1}} - \frac{v^{-\beta}}{v^{2\alpha+1}} \right\} = \cos x - \sin x$$

This is the required solution of equation (20).

3.3.6 Consider the Volterra Integral equation of first kind

$$x^2 = \frac{1}{2} \int_0^x (x-t)u(t)dt \tag{21}$$

Using convolution, $x^2 = \frac{1}{2} [x * u(x)]$

Applying Sadik Transform on both sides

$$S\{x^2\} = \frac{1}{2} S\{[x * u(x)]\} = \frac{1}{2} v^\beta S\{x\}S\{u(x)\}, \text{ by theorem 2.4}$$

$$\frac{2!}{v^{3\alpha+\beta}} = \frac{1}{2} v^\beta \frac{1}{v^{2\alpha+1}} S\{u(x)\}$$

$$S\{u(x)\} = 4 \frac{1}{v^{\alpha+\beta}}$$

Applying inverse Sadik Transform

$$u(x) = 4S^{-1} \left\{ \frac{1}{v^{\alpha+\beta}} \right\} = 4,$$

This is the required solution of equation (21).

3.3.7 Consider the Volterra Integral equation of first kind

$$\sin x = \int_0^x u(x-t)u(t)dt, \tag{22}$$

Using convolution, $\sin x = u(x) * u(x)$

Applying Sadik Transform on both sides

$$S\{\sin x\} = S\{u(x) * u(x)\} = v^\beta S\{u(x)\}S\{u(x)\}, \text{ by theorem 2.4}$$

$$\frac{v^{-\beta}}{v^{2\alpha+1}} = v^\beta [S\{u(x)\}]^2$$

$$S\{u(x)\} = \pm \frac{v^{-\beta}}{\sqrt{v^{2\alpha+1}}}$$

Applying inverse Sadik Transform

$$u(x) = \pm S^{-1} \left\{ \frac{v^{-\beta}}{\sqrt{v^{2\alpha+1}}} \right\} = \pm J_0(x)$$

This is the required solution of equation (22).

3.3.8 Consider the Volterra Integral equation of first kind

$$1 - J_0(x) = \int_0^x u(t)dt, \tag{23}$$

Using convolution, $1 - J_0(x) = 1 * u(x)$

Applying Sadik Transform on both sides

$$S\{1 - J_0(x)\} = S\{1 * u(x)\} = v^\beta S\{1\}S\{u(x)\}, \text{ by theorem 2.4}$$

$$\frac{1}{v^{\alpha+\beta}} - \frac{v^{-\beta}}{\sqrt{v^{2\alpha+1}}} = v^\beta \frac{1}{v^{\alpha+\beta}} S\{u(x)\}$$

$$S\{u(x)\} = v^{-\beta} - \frac{v^{\alpha-\beta}}{\sqrt{v^{2\alpha+1}}}$$

Applying inverse Sadik Transform

$$u(x) = S^{-1} \left\{ v^{-\beta} - \frac{v^{\alpha-\beta}}{\sqrt{v^{2\alpha+1}}} \right\} = J_1(x).$$

This is the required solution of equation (23).

3.3.9 Consider the Volterra Integral equation of first kind

$$x = \int_0^x e^{x-t}u(t)dt, \tag{24}$$

Using convolution, $x = e^x * u(x)$

Applying Sadik Transform on both sides

$$S\{x\} = S\{e^x * u(x)\} = v^\beta S\{e^x\}S\{u(x)\}, \quad \text{by theorem 2.4}$$

$$\frac{1}{v^{2\alpha+\beta}} = v^\beta \frac{v^{-\beta}}{v^{\alpha-1}} S\{u(x)\}$$

$$S\{u(x)\} = \frac{v^\alpha - 1}{v^{2\alpha+\beta}}$$

Applying inverse Sadik Transform

$$u(x) = S^{-1}\left\{\frac{1}{v^\alpha - \beta} - \frac{1}{v^{2\alpha+\beta}}\right\} = 1 - x$$

This is the required solution of equation (24).

4. Conclusion:-

The applications of new integral transform “Sadik Transform” to the solution of Bessel’s function and Volterra integral equation of convolution type has been demonstrated.

ACKNOWLEDGMENT

The authors are very much thankful to SPPU Pune and Sanjivani College of Engineering, Kopargaon, for providing all facilities for this work. We are also thankful to Dr. Narendra and Prof. S. M. Sonawane for their valuable guidance.

References:-

- [1] Sadikali Latif Shaikh “Introducing a new Integral Transform Sadik Transform”, American International Journal of Research in Science, Technology, 22(1) 100-103 (2018).
- [2] Sudhanshu Aggarwal¹, Nidhi Sharma², Raman Chauhan³, “Applications of Kamal Transform for solving Volterra integral equation of first kind”, International Journal of Research in Advent Technology, vol-6.No.8 Aug 2018 ISSN: 2321-9637.
- [3] Yechan Song, Hwajoon Kim “ The solution of Volterra Integral equation of Second kind by using the Elzaki Transform”, Applied Mathematical Science, vol 8, 2014 No. 11, 525- 530.
- [4] Sudhanshu Aggarwal, “Kamal Transform of Bessel’s Functions”, International Journal of Research and Innovation in Applied Science (IJRIAS) | Volume III, Issue VII, July 2018|ISSN 2454-6194
- [5] Sadikali Latif Shaikh, “Some applications of the new Integral Transform for partial Differential Equation”, Mathematical Journal of Interdisciplinary Science, vol 7 No.1 Sep 2018 pp 45-49
- [6] Bell, W.W. Special functions for scientists and engineers, D. Van Nostrand Company LTD London.
- [7] Mclachlan, N.W. Bessel functions for engineers, Longman, Oxford (1955).
- [8] Korenev, B.G. Bessel functions and their applications, Chapman & Hall/CRC.
- [9] Watson, G.N. A treatise on the theory of Bessel functions, Cambridge University Press.
- [10] Farrell, O.J. and Ross, B. Solved problems in analysis: As applied to Gamma, Beta, Legendre and Bessel function, Dover Publications Inc. Mineola, New York.
- [11] Lokenath Debnath and Bhatta, D. Integral transforms and their applications, Second edition, Chapman & Hall/CRC (2006).
- [12] Aggarwal, S., Chauhan, R. and Sharma, N. A new application of Kamal transform for solving linear Volterra integral equations, International Journal of Latest Technology in Engineering, Management & Applied Science, 7(4), 138-140 (2018).
- [13] S. B. Kivne, Sandip M. Sonawane, “Mahgoub Transform Fundamental Properties and Applications,” International Journal of Computer & Mathematical Sciences, 7(2), Feb.2018, pp. 500-511.